Introduction to Arabic
Grammar

Lesson 3
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Particles That Resemble Verbs Jaalb dgninll a g yall

*  These are called |x3L igaal O o2 because like ¢sdazdl) 215401, they also govern two words.

., i, L. Ras, #7es
*  These <*93> appear before a 1224 and a & (de) ala).

F g
Effect: Such a particle causes the 1325 to be in a state of £225 which is then known as &) ) (or

.

—n\
+ 8\

Ci\

~! and so on) and causes the % to be in a state of 3 @ ; which is then known as 0] %% (or 5=

i

Ci\

and so on).



Particles That Resemble Verbs Jaalb dgninll a g yall

Meaning Example

u\ certainly, verily, indeed | e & d\ Verily Allah is All-Knowing.

51 that Eap oyl & o s I know that the examination is
near.

5 | asif Tas & gty It is as if the house is new.

ugj but, however 2.8 &Y U_Q' Las &2 The house is new but the
furniture is old.

&S| if only, I wish Jle AN [ wish youth would return.

?3) | maybe, hopefully, ez sy 4l Hopetully, the examination

perhaps will be easy.




Particles That Resemble Verbs Jaalb dgninll a g yall

Sentence Analysis:

T ! 0\ Indeed, Allah is All-Knowing.

A YRl g S




Particles That Resemble Verbs Jaalb dgninll a g yall

Notes:

'n\

1. Difference between u\ nd O

a. ol is generally used at the beginning of a sentence.

—n\ \o—

3 is generally used in the middle of a sentence.

b. Sometimes, u\ appears in the middle of a sentence. This happens in the following

WO cases:

i.  When it is used after a word with root letters J — 35— &.

0"/

e.g.  ihal Z,e.: \35\ J He says, indeed, it is a yellow cow.

ii. ~ When it is at the beginning of a il»."?
e.g.

7> Gl LS-U‘ &5 [ visited the one whom [ respect.



Particles That Resemble Verbs J=4lL 4griall oy jall

2. The %% can be a complete sentence.

Example 1: W 414 u\ Indeed, Zayd’s mother is pious.
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Particles That Resemble Verbs Jaalb dgninll a g yall

Example 2: alakall 871355 O Indeed, Zayd ate the food.
atalal! IS 1455 X
B Build) = Jas ¢ b

A\ /
Y
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Particles That Resemble Verbs Jaalb dgninll a g yall

3. Ifthe %= is (55525 5\5), then the %% will appear first and the ~) second.

e.g. A RENIR)] Indeed, to us is their return.

00 &) &Y

T *e L o~ T
5\.:5; las + ek YIS
. ~ J —_—
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Particles That Resemble Verbs J=4lL 4griall oy jall

4. When &) G is joined to any of these Cs 953, their effect is cancelled.
e.g. Jfs 43S ‘3;\ Your god is only one god.
Note: In this example, the meaning has also changed to “only.”

5. I by itself conveys emphasis. Sometimes, 5@ Y can be added before the %5 to convey

even more emphasis.
e.g. ) J)ia) :Ju\ Indeed, you are the messenger of Allah.

BEA RSN 3) Indeed, I know your brother.



Kaana and its Sisters Wil saf s o\<

= a0 e s called 230 (incomplete/defective) because even though it is a &Y =3, it needs
two ma mools ((¥ssx»). The sentence remains incomplete with one Jsixs.

Be, £ Z . .
e.g. XL o8 Zayd was (the sentence remains incomplete).

R

s _

*  These &l enter upon a 1355 and a %>

]

£ _

Effect: They give ”@J to the 1324 which is then known as 0§ ~) (or 5L 32l and so on) and &2

to the %3 which is then known as 98 %% (or ;% %% and so on).



Kaana and its Sisters L sal 5 o)\<

5a36 fad Meaning Example

1. o8 was HO(IN Ly The house was clean.

2. 5 became Rt b The man became wealthy.

3. c..a& happen in the morning | Uz 5 X35 C“‘”‘ Zayd became ill in the

morning.

OR
became RPN c.‘.o\ Zayd became rich.

4. o1 | happen in the evening, | i i o The worker became tired in
became the evening.

5. A happen at midmorning, s éw\ EP o The clouds became dense at

became

happen during the day,

became

happen during the

night, became

Y)b jhd\ Jb

- ﬂo/ . .
0 ) &b

mid morning.

[t rained the whole day.

Zayd passed the night
sleeping.




8. 6\3 s

Kaana and its Sisters L sal 5 o)\<

as long as

always, continuously
always, continuously
always, continuously

always, continuously

no, not

Tor (2 (- o |0
L@L?J%)f\suu“l-?'l

Las 35 J5 G
e 3 £
Ll 3 g8 b
Bl 2 38

6 5 o]

Sit as long as Zayd is sitting.
Zayd was continuously sick.
Zayd was always fasting.
Zayd was always active.

The trader was always
truthful.

The servant is not strong.




Kaana and its Sisters L sal 5 o)\<

Sentence Analysis:
% ot % 3, o P
Py Cand! oS The house was clean.

S8R 08 sl s




Kaana and its Sisters L sal 5 o)\<

When 08" is used with §,U23, it gives the meaning of past continuous or past habitual.
e.g. NIy Zayd was writing/Zayd used to write.

- 4 T e f@ o« 2/0/‘ . .
Note: Here, the %3 of 05" is a &l=é il Also, note the two ways it is translated above.



Kaana and its Sisters L sal 5 o)\<

The %* of ;-J is sometimes prefixed with a .
e.g. CreS B p—<>b @ 5 Is Allah not the greatest of rulers/best of judges?

If the % is (55525 5\5), then the %5 will appear first and the 132 second.

7

c.g. Sl slod! & O There were clouds in the sky.

(B3 08 fa (A 085 el i



Declinable and Indeclinable Words (-l 5 a4l

Words are of two types with respect to changes that occur at their ends. If the end remains the

same in all conditions, the word is called ?s%; and if it does change, the word is called 525,



Declinable and Indeclinable Words (-l 5 a4l

el }&‘y\ The conditions or states (J15>1) which remain unchanged at the end of #s words are

four: ;-ﬁa, “’C«.e, 2.8 and 535X, These are called s LI @y\

u‘f'ﬁ‘ é\y‘ Those conditions or states (J1s=1) which occur at the end of &s2% words are four:

”éj, Eias, 5%, and #3+. These are called ;2! é\y\ (&Y for short). These changes are brought
about at the end of a &2 word in accordance with the requirement of the ‘& (governing

word).



Declinable and Indeclinable Words (-l 5 a4l

<Y &Ye — Signs of i 7aab

The 7i7aab shows in various ways. These are called u\,r—ﬁl\ EGSe (signs of i7aab). The two

common ones are as follows:

-

1. 344 LreYi: These are the basic 31gns and are the most common. /7aab is shown by means
R~

-

A

. 2~ “_ 0 o
of 2 85 i.e. 4% or &5 or 5,25 or O (which is the absence of a ).

b 7 b L ° O. s O/
c.g. ! =) yb.') ) uf@ é
. S o\ . . . ,.@ A .
2. 2oL SheYl: Sometimes, the 774ab is shown by means of any of the ale 293> j.e. soror

s

-

"\
—n\

e.g. 3 A6 W



Declinable and Indeclinable Words (-l 5 a4l

<! SYS — States of mu rab

As mentioned above, the conditions or states that occur at the end of 52+ words are four.

Below, we look at them in more detail.

HPTTRE S .. . . B . . REEEN
1. &) A is the condition in which a 3% or its substitute such as de <35 () appears at the
) ) 3
end of a word. Such a word is said to be ’éy 35,

4

—n\

o4

j}-

"\
—n\
—n\

e.g. =

A\N

o & ﬁ/ ~ . o o . . ",’:‘/ o7 . . ..é ;'o/
2. «dl d is the condition in which a 4% or its substitute such as ds 3= ()) appears at

the end of a word. Such a word is said to be & ylais,

eg. B dst we



Declinable and Indeclinable Words (-l 5 a4l

- P . . . . Bz . . S
3. 1 d is the condition in which a 25" or its substitute such as dls 235 (s) appears at the

end of a word. Such a word is said to be j¢}2.

e.g. C‘ e YY)

°/° {'/ - . o o . o ,? °} . .
4. a@) d is the condition in which a 33 appears at the end of a word or its substitute (¢

in the case of 3,lz% ) is dropped from the end. Such a word is said to be 57.
e.g. & % 152 22 P
Note: It should be remembered that fz /s can only be in the state of “’éj, L2ai or 25, while Zsms

can only be in a state of”é’ej, Cas, or s



Declinable and Indeclinable Words (-l 5 a4l

”1@/. % 0% .’f/o i’ B -, 0% o -
The difference between dsz — 458 — 6,05 and 4 — 758 — oS

=  The words g«a - ”c«-@ — 225 are used to describe the states at the end of a e, eg o has
a 72 at the end. It is =l J& 25,

2 f/ o7 f o & 2 -
*  The words 3 — 3525 — 5325 are used for all other places where (2), () and (—) appear.
In other words, (2), (=) and (—) are normally called 3% — 3535 — 5.5, respectively, wherever
they occur except when one needs to precisely point out the end of a ¥+ word. Thus, one

would say &5 has a 455 on (), a &5 on (), and a 3535 on (), but one must say (&5%) is
y St y

o P2
o~ P
A 3.0,
S.Vé.
. =



Declinable and Indeclinable Words (-l 5 a4l

¢ oadl — The indeclinable word

P

As mentioned earlier, a %2 is a word whose end remains unchanged in all conditions i.e.

irrespective of the requirement of the ‘& governing it.

e.g. KESAES W &g s 555
This came. [ saw this. I passed by this.

Note: The &5 at the end of 1is remains constant and does not change according to the

Nele requirement.



Declinable and Indeclinable Words (-l 5 a4l

Types of {s:
1. All Particles (& 9)>) *
3. Oyaali fodi 241

- iy ey °2 e 2 o |- o £5 354 PBlout
4. Those seeghabs of é)w % that are 53 & (L5 and 3215) or have A5W O % (3% and

* 0 « 4



Declinable and Indeclinable Words (-l 5 a4l

Amongst isms, those whose ends remain constant are called - S<&3) 2% i.e. isms which do

not give place to changes. These #sms are !5 and are recognized by their resemblance

with any one of the three types of 1Y) &)l words (533% or Wi Jxdl or 2od1 43V

Us3224)7). This resemblance can be in any one of the following ways:

a. Resemblance in meaning. For example, the ism 33) (give grace/respite) resembles

the word J@x\, which is :ﬁjj.ii»j/\ 3o jigj/\ (one of the j}a’ﬁ\ ZSMJ\) and has the same

meaning.



Declinable and Indeclinable Words (-l 5 a4l

b. Resemblance in dependency. For example, the ism s (53Y) i), which is
o/ AR 7 . . ﬂ'o/ R %20 o/o/
dependent on a «J] jL:4 to give meaning, resembles a <23> (one of the KoY 22d),
which is also dependent on another word to give meaning.
c. Resemblance in having less than three letters. For example, the ism 25, which is less

than three letters, resembles C23> (e.g. 3), which is also generally less than three

letters.

f

d. Resemblance in having had a (35 originally. For example, the ism ;& 1s

’g~°/ . o« o o o "~°/ ’,°,//"g/£
resembles a 23> in the sense that originally it contained a &35 (7223 45).



Declinable and Indeclinable Words (-l 5 a4l

ol St

When a {s* word appears in a sentence in a place where it is supposed to be in the state of x3,

s, 35 or #5%, its end does not change because it is Zgw However, it is said that it is in the

A
P S—
Y \

place of 2 ce 5, L2, 55, or pE (g ;\ > ; :}5 ), in accordance with its place in the

ﬁ

sentence.

For example,

sC3ias We helped him.

Keeping in mind that all pronouns are fgw, this sentence will be analyzed as follows:
Sl is 2 i and s 032 e 3.

G is qu is O3KA) 6\9 {5 and C’J =8
olsg °’/1s¢.~al$ wandw& 3.



Declinable and Indeclinable Words {sall 5 =4l

L2401 — The declinable word

As mentioned above, a &5=4 is a word whose end accepts any of the 77246 according to the

requirement of the ls\& governing it.

c.g. ey els p ESROM) S s
A man came. [ saw a man. | passed by a man.

Note: Here, the 772ab of |~ has changed according to the requirement of the ’lss.



Declinable and Indeclinable Words (-l 5 a4l

Types of &pa:
1. Amongst fi'ls, all of the seeghahs of 3,4 Y2 besides those of h—»-’_jj’ ~ (&ste and 3»5) and

. 0 50 ’fc’f f/o«;. ﬁﬂo./, _o
those with LS 05 (A& and 424%) are s,
2. Amongst isms, those isms which accept i7aab changes are C52i. They are known as *S<is

i.e. isms which give place to 7‘7aab changes.

Note: Such an ism is &5=4 only when it is used in a sentence. If not used in a sentence, it is

!z, For example, < on its own, when not part of a sentence, is 32l J& #55.



Declinable and Indeclinable Words (-l 5 a4l

&mad @Y1 ALLST — Types of indeclinable iszas

The types of &)l 13T are as follows:

1. 3N (personal pronouns)

832320 2@ (relative pronouns)

o)u‘% 1 (demonstrative pronouns)

JLa.eE!\ s (isms that have the meaning of f7 /s)
2521 &1 (isms that denote a sound)

&3}525/* (adverbs)

EeUSTi (isms that indicate an unspecified quantity)

:;U‘ 2520 (numerical phrase)

0 NN WA >N



